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ECONOMICS

( Honours Core )

Paper : ECO-HC-6016
( Indian Economy—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
Ooq 2PN Tes fra

fa) Mention one objective of Indian
monetary policy.

SRST IS qB1 T Teary 4 |
(b) What is the difference between repo rate
and bank rate of RBI?

RO e @9 @ @ WF @99 7@
s A1 & 2
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(c)

(d

(e)

(9)

(h)
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State one important instrument of
Indian fiscal policy.

ST AT Ao @bt @Fgey =fE T

91

Write one main feature of India’s trade
policy.

S e TR <51 o1 are e |

What is minimum support price in
Indian agriculture?

sReR R fAaew e 720 & 2

What is mechanisation of Indian
agriculture?

sHow PRI I 2

Give the meaning of ‘ndustrial
diversification’.

‘8o Cafbar’s oy forar |

State one reason of sickness of public
sector industries of India.

SO I 497 TR FASR 9B IR (S
911
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(3)

(i What is foreign portfolio investment?
Rt “conbeetene’ R & 2

(i) Name the largest service sector in India.

SeA JT6N CRIAGHR ¥ o747 |

2. Answer the following questions : 2x5=10
wore fil e T i -

fa) Distinguish between revenue deficit and
fiscal deficit.
ez 9t S AR qioa A [T 741 |

(b) Mention two important defects of
agricultural marketing of India.

SRS M I 7o @y Fo SCEd T |

(c) Write two positive effects of demone-
tisation in the Indian economy.

ey e RERed o F@Re qeR
feran |

(d) What is import substitution?

s [Aeaed 62

(e) Give the meaning of ‘service sector’.

‘orrae’ oy fan
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3. Answer any four from the following
questions : 5x4=20

TS fraT ePpTRd R el wiieR T faan
fa) Explain any five instruments of

monetary policy in India.

SRed q@Afed R e <iwbr wifden amm
kol

(b) Distinguish between micro, small-scale
and medium industries of India.

SRST TE, Y WF TwA STHE e efy
kalll

(c) Point out five main defects of Indian tax
system.

SIS 9 IR {1661 Y1 fo gy fiw

(d) Discuss the various shortcomings of the
fiscal policy of India.

SRS AN WA ARw ez
AT 347 |

fe) Outline the agrarian structure of India.
SIS FfMS 127 8o Wcaere 59 |
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() Discuss the role of service sector in
Indian economy.

TRON WIS CRING BT ST 41 |
Answer the following questions : 10x4=40
were fru e e frw

(a) Examine the statement that “In recent
years there has been a shift in the
emphasis from land reforms to
technological reforms in India”.

RS R T @ ST e SHeR
IRT gFg SR TFR o[ RO FARFELA
fﬁTGﬁGZQCQ”I

Or / 91

Discuss the problems and remedies of

10

micro industries of India. 5+5=10

SReY T SO TN WE I
AP SCEAOAT 41 |

() Discuss the trade and investment policy
reforms introduced in India during post-

1990’s. 5+5=10

y380 T4 PrEe SHee oA ([ AfdE =
Rffcas TR TR TooFS FCEAD FAT |
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(c)

(d)
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(6)

Or / J%4]

Discuss the role of foreign direct
investment in Indian economy. 10

SRE Hefoe ders (ot RieR S
AT 41 |

Give an outline of the various defects of
macro-economic policies of India. 10

TEed iR A e [fen s
8IS HCEFATS 3 |

Or / 5211

Explain the problems of public sector
industries faced in India during post-
globalisation  period. @ Give  your
suggestions to remove such problems.
6+4=10

GLASE  (TAR/IFTHR O[S FATHE SRR

e Y67 TP I @RI IR
IO | G2 TIPR WO AT P
R SIS |

Examine the performance of service
sector of India during post-1990’s. 10

S5b0 B9 RIS FERRC SHET CRIAST
FEHTC! 2R 40 |
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Or / 9231

Discuss the major challenges facing
Indian agriculture in recent times. 10

WWWWW@W{H
SOTRIPTZ. SIS 347 |

* &k
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